hRX

. = = SHISE SHI6E
Rl EE®ES T 7£ b R EH= R EH=
fg—1 ENDHIEKSTHSEN 245,000 43 252,000 2.9
hg—2 71858 T H593%& 184+ 224,000 12.0 230,000 2.7
G fg—3 22578 T H630&F 44+ 195,000 14.7 200,000 2.6
FR—4 FJ112T EH1880&F410 65,000 14.0 67,000 3.1
hf—5 =y 2T H474%86 367,000 3.4 375,000 2.2
FR—6 BEOF2FK1TTH1235F 119 48,000 6.7 48,000 0.0
Hh A 2 6 6
i i 6 6
EH/NET 1,144,000 55.1 | 1,172,000 13.5
EHh T 190,700 9.2 195,300 2.3
hR5—1 L3&FmE2T H1FE 134} 4,700,000 9.3 | 5,100,000 8.5
hR5-—2 K EFECTEHOET 2,500,000 6.4 | 2,820,000 12.8
hR5—3 KBEFEI0T H47E132 1,260,000 18.9 | 1,440,000 14.3
FR5—4 F12%& 14T H1465%&16 275,000 12.2 290,000 5.5
BEXhR5—5 H25F5 T B26%17(8h%5-9) 1,950,000 18.2 | 2,250,000 15.4
FHR5—6 F2&mOTH1E2 820,000 18.8 935,000 14.0
hR5—7 B1E&mm11 T B327%204} 640,000 18.5 725,000 13.3
hHR5—8 FO%& T3 T B 10399 (IBsh#5-10) 740,000 14.7 880,000 18.9
hR5—9 1723 T BH283%&10 615,000 23.0 650,000 5.7
Hh = 9 9
et i 9 9
EEINS 13,500,000 | 140.0 | 15,090,000 [ 108.4
EEFEY 1,500,000 15.6 | 1,676,700 12.0
S 15 15 15 15
e = 14,644,000 | 195.1 | 16,262,000 | 121.9
SHRTEY 976,300 13.0 | 1,084,100 8.1




